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The hundreds and units digits must add up to 8 - 6 = 2.
Either 1 +1=20r2+0=2.

or
So the 3-digit number is either 2(l6|l0

1~ Rounding to 4000 (nearest 100) means any number betwieen 3950 and 4049.

7. If the thousands digit is 3 then units digit s 6.
If the thousands digit is 4 then units digit is 8.
The tens is either 346 =9 v or 4 +8 =12 x.

So the 4-digit number is 3996
4
a. | subtracted 2000 b. | added 100
c. | subtracted 100 d. | subtracted 1

430" could be any number between 25-34; 20" could be any number between
15-24. S0 maximum sum = 34 + 24 = 58. [This is the same answer regardless.]

6.

a. |C+ONE=CONE b. |LIVED-1V=LED

c. | X1+AS=AXIS d. |[RELIVED-LIV=REED
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